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7.5 —
: 9.8%-. A 38.1-mm-diameter, 0.0245-N table tennis ball is re-

leased from the bottom of a swimming pool. With what velocity
does it rise to the surface? Assume it has reached its terminal |

velocity. i
k N VU dia. D=381mn
Fg; steady rise = =0 | wafer
o =W+, where J=drag=6, U FD* o
W = weight = 0.0245 tof

Fg = bvoyant force = ¥ = b"g—”("zo‘)z
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y 2V =W+ +pUtED”

(‘IBO*JU’——)%_ 0-035”);; = 0.0245 N +7_‘-cb(qqq—,§,%)Uz-£(o.035/m)3

or
G U = 0455 | where U~ % <))
/.Uso Re o UD
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Re = J./Zx:o“_g.? " 3.40 %10 U, where U~ & (2)
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a /V, fr‘ﬂm }:'-19 ? ‘D \—’—\/— (3)
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Trial qnd error solvtion: Assyme C, obfam U from Eq, (1), Re from

Eq.(2); check Cp from E'g (3), the graph:

Assume C,=0.5 — U= 0954L — Rle = 3.24X/0"— C, =04 #0.5
ﬁs&”me CD=O'¢ SN U= /'06 Ts"m s R‘e = 3.623/09“—" CD ‘=0.4(C)18€k$)k
Thys, U= los 2

Note : Becavse of the graph (Fig.9.21) the answers are not
accurate to three signiticant ﬁgurb.s
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